
#14 X 1" HEX HEAD
SCREWS 12" O.C.

1 1/2" X 1 1/2" 18 GA
WHITE ANGLE BASE
(BY MFR)

1/4" X 1 3/4" TAP CONS
@ 12" O.C.

INSIDE COOLEROUTSIDE COOLER

NOTE: DETAIL TYPICAL
FOR ALL COOLER
PANEL LOCATIONS

INSULATED WALL
PANEL

USE #8 X 3/4" SCREWS
@ 12" O.C. @

EXPOSED EXT.

BUTYL SEALANT
2 BEADS

DOUBLE 2X BLOCKING

INSULATED WALL PANEL

#10 X 1" TRUSS HEAD
SCREWS @ 12" O.C.

FIELD INSTALLED 18 GA.
STAINLESS STEEL JAMB

GUARDS

2x6 BLKG FOR
MOUNTING DOOR RAILS

APPLY TWO - 1/2" WIDE BEADS OF CONT
CAULK TO TOP OF WOOD NAILERS

(2) 1/4" X 1 1/2" DRIVE
PINS (BASE TO
CONCRETE FLOOR)

AT EACH SIDE OF DOOR
JAMB, 1 1/2" X 1 1/2" X 6
1/2" NAT. ALUM. ANGLE

USE (2) #14 X 1" HEX
HEAD SCREWS (BASE
TO WALL)

NOTE: BUTYL BETWEEN
JOINTS AS PANELS ARE
ASSEMBLED.  BUTYL
MUST NOT BE EXPOSED.

#14 x 1" HEX HEAD @ 12"
O.C.WOOD BLKG

26 GA. 1 1/2" x 1 1/2"
CONTINUOUS ANGLE

1" x 6-1/2" FIELD
INSTALLED TOP TRIM

BUTYL ALL
JOINTS IN

FREEZERS

#8 x 3/4" HEX HEAD
SCREWS @ 12" O.C.

3/8" LAG BOLTS @ 24" O.C. MAX.

CO
ND

UI
T 

TO
 P

RO
TR

UD
E 

7"
AB

OV
E 

TH
E 

CL
G 

PA
NE

L F
OR

FI
EL

D 
AT

TA
CH

ME
NT

 O
F

EL
EC

TR
IC

AL
 A

BO
VE

TH
E 

CO
OL

ER
/ F

RE
EZ

ER

1/2" CONDUIT -
UL LISTED

 CONDUIT
CONNECTOR -

UL LISTED

ELEVATION SECTION

DIGITAL THERMOMETER

ELECTRICAL BOX -
UL LISTED

℄ OF BOX
5'-0" A.F.F.

SEE DOOR ELEVS. FOR EXTENTS OF BLKG

INSULATED WALL PANEL

PLYWOOD BLKG. FLAT TO EXT. #19 1" TRUSS
HEAD STAINLESS
STEEL SCREWS

18 GA.
STAINLESS
STEEL JAMB
GUARDS
2x
WOOD
BLKG

(2) 2x10
WOOD
BLKG

HEATED WIPER GASKET

12" WIDE 12 GA.
STAINLESS STEEL
THRESHOLD

INSULATED DOOR

COOLER PANEL BEYOND

#14 x 1 1/4" TRUSS
HEAD SCREWS

SEE DOOR ELEVS. FOR EXTENTS OF BLKG

INSULATED WALL PANEL

PLYWOOD BLKG. FLAT TO EXT.

PERISHABLE REC'G

GENERAL REC'G#10 x 1" TRUSS HEAD
SCREWS @ 12" O.C.

18 GA. STAINLESS
STEEL JAMB GUARDS

2x6 BLKG.
BOTH SIDES

PROVIDE 10'-0" HIGH CLOSURE
PIECE @ TRANSITION BETWEEN

COOLER & STUD WALL - TO
MATCH COOLER PANEL

AIR GAP

NOTE: BUTYL BETWEEN
JOINTS AS PANELS ARE
ASSEMBLED.  BUTYL
MUST NOT BE EXPOSED.

#14 x 1" HEX HEAD @ 12"
O.C. (TYP.)

WOOD BLKG

26 GA. 1 1/2" x 1 1/2"
CONTINUOUS ANGLE
(TYP.)

BUTYL ALL
JOINTS IN

FREEZERS

3/8" LAG BOLTS @ 24" O.C. MAX.

FREEZERCOOLER

1/2" BACKER ROD
AND SEALANT BY

COOLER INSTALLER

6" - OR PER WALL
TYPE SCHEDULE

EXT WALL

T.O. DOOR OPENING
ELEV: SEE PLANS

METAL TRIM (BY
COOLER MFR)

BLKG (BY
COOLER
MFR)

1/2" BACKER ROD
AND SEALANT BY

COOLER INSTALLER

6" - OR PER WALL
TYPE SCHEDULE

EXT WALL
METAL TRIM (BY
COOLER MFR)

BLKG (BY
COOLER
MFR)

INSULATED WALL PANEL

COOLER DOOR (BY
COOLER MFR.)

EXT WALL

EXTERIOR

INTERIOR

1/2" BACKER ROD &
SEALANT (BY GC)

METAL TRIM (BY GC)

1/2" EXT PLYWOOD
ON 3-5/8" METAL

STUDS (BY GC)

GA
P 

PE
R 

W
AL

L T
YP

E

WOOD BLKG & TRIM
(BY COOLER MFR.)

INSULATED
WALL PANEL

COOLER DOOR (BY
COOLER MFR.)

EXT WALL

EXTERIOR
INTERIOR

1/2" BACKER ROD &
SEALANT (BY GC)

METAL TRIM (BY GC)

1/2" EXT PLYWOOD
ON 3-5/8" METAL

STUDS (BY GC)

GAP PER WALL TYPE

WOOD BLKG & TRIM
(BY COOLER MFR.)

ROOF FRAMING
& DECK

1 5/8" X 1 5/8"
HEAVY DUTY
UNISTRUT, (12 GA.)
ATTACH TO ROOF
STRUCTURE.

(2) 3/8" NUTS W/
WASHERS

3/8"Ø THREADED ROD

EVAPORATOR COIL

RACKING INSTALLER
TO MODIFY RACKING
AT EVAPORATOR
LOCATIONS

EVAPORATOR
MOUNTING BRACKET
@ FRONT & BACKSIDE
OF UNIT

1 5/8" X 1 5/8" HEAVY
DUTY UNISTRUT, (12 GA.)

- INSTALLED W/ "U" DOWN

(2) 3/8" NUTS W/
WASHERS

NOTE: CONDITION
APPLIES TO ALL COIL
LOCATIONS. IN-RACK
CONDITION SHOWN
FOR REFERENCE.

X X X X X X X X X X X X X X X X X X XXXXXXXXXXXX

(2) 2 X 12 PRESSURE
TREATED LUMBER, (BY G.C.)

1
2" CONT. ELASTOMERIC

SEALANT

6" FOAM INSULATION, (BY G.C.)

12" COMPACTED COURSE
GRAVEL BY, (BY G.C.)

GALVANIZED THREADED
CONDUIT PIPE FOR TEMP
SENSOR UNDER INSULATION,
(BY G.C.)

6"Ø SDR 35 PERFORATED PVC
PIPE, (BY G.C.)

FREEZER PANELS
RACK LEG, (BY RACK VENDOR)

REINFORCED CONCRETE
SLAB, (BY G.C.)

3" THICK RIGID INSUL,
(BY G.C.)

6" METAL COVE BASE

CONCRETE
CURB, (BY G.C.)

CAULK ALL
WOOD-TO-WOOD
CONNECTIONS- SEE
DET R/ THIS SHEET

TH
ES

E 
 D

OC
UM

EN
TS

  C
ON

TA
IN

  IN
FO

RM
AT

IO
N 

 P
RO

PR
IE

TA
RY

  T
O 

 A
DA

  A
RC

HI
TE

CT
S,

  IN
C.

UN
AU

TH
OR

IZ
ED

  U
SE

 O
F 

 T
HE

SE
  D

OC
UM

EN
TS

  IS
  E

XP
RE

SS
LY

  P
RO

HI
BI

TE
D 

 U
NL

ES
S 

 A
GR

EE
D 

 U
PO

N 
 IN

  W
RI

TI
NG

.

Re
sta

ur
an

t D
ep

ot
 / 

BR
EW

ST
ER

, N
Y

DA
NB

UR
Y 

RO
AD

 (L
OT

 48
 | B

LO
CK

 00
02

)
BR

EW
ST

ER
, N

Y 
10

50
9

JOB NO.

DATE:

19230

SHEET NO.

#
DA

TE
TY

PE
1 2 3 4 5 6 7 8 9 10

REVISIONS

A
 
R

 
C

 
H

 
I
 
T
 
E
 
C

 
T

K
L
S

Ku
rt 

L. 
Sc

hm
itz

, A
rch

ite
ct

17
71

0 D
etr

oit
 A

ve
nu

e  
   L

ak
ew

oo
d, 

Oh
io 

 44
10

7
Ph

on
e (

21
6)

  5
21

-5
13

4 ●
 F

ax
 (2

16
) 5

21
-4

82
4 ●

 w
ww

.ad
aa

rch
ite

cts
.cc

9/10/2020

CF-3

COOLER /

FREEZER

DETAILS

COOLER/ FREEZER DRAWINGS ARE TO BE USED BY OWNER-SELECTED SUBS
FOR BIDDING ON COOLER AND FREEZER EQUIPMENT AND BOXES.  THESE
DRAWINGS ARE PROVIDED TO GENERAL CONTRACTORS FOR REFERENCE ONLY.

SCALE:

PRODUCE AND DELI
DOOR JAMB DETAIL

N.T.S.
A
-

SCALE:

FREEZER
DOOR JAMB DETAIL

N.T.S.
B
-

SCALE:

DOOR STABILIZER DETAIL
N.T.S.

C
-

SCALE:

FREEZER MAN DOOR
THRESHOLD DETAIL

N.T.S.
D
-

SCALE:

THERMOMETER DETAIL
N.T.S.

E
-SCALE:

FREEZER CURB DETAIL
1-1/2" = 1'-0"

H
-

SCALE:

TYP. WALL TO FLOOR DETAIL
N.T.S.

J
-

SCALE:

TYP. LAG DOWN TOP DETAIL
N.T.S.

K
-

SCALE:

MAN DOOR HEAD DETAIL
N.T.S.

G
-

SCALE:

FREEZER WOOD TO WOOD
CONNECTION PLAN VIEW

N.T.S.
R
- SCALE:

MAN DOOR JAMB DETAIL
N.T.S.

F
-

SCALE:

ROOF SUSPENSION
EVAPORATOR UNIT CONNECTION DETAIL

1/2" = 1'-0"
N
-

SCALE:

COOLER - FREEZER CONNECTION
LAG DOWN TOP DETAIL

N.T.S.
L
-SCALE:

O.H. DOOR JAMB DETAIL
N.T.S.

S
-

SCALE:

PERISHABLE RECEIVING
DOOR JAMB DETAIL

N.T.S.
B1

-

SCALE:

ROOF SUPPORTED
EVAPORATOR COIL CONNECTION DETAIL

N.T.S.
M
-SCALE:

O.H. DOOR HEAD DETAIL
N.T.S.

T
-

SCALE:

WALL TRANSITION
TRIM DETAIL

N.T.S.
P
-

AutoCAD SHX Text
R

AutoCAD SHX Text
E

AutoCAD SHX Text
G

AutoCAD SHX Text
I

AutoCAD SHX Text
S

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
E

AutoCAD SHX Text
D

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
C

AutoCAD SHX Text
H

AutoCAD SHX Text
I

AutoCAD SHX Text
C

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
T

AutoCAD SHX Text
S

AutoCAD SHX Text
S

AutoCAD SHX Text
T

AutoCAD SHX Text
A

AutoCAD SHX Text
T

AutoCAD SHX Text
E

AutoCAD SHX Text
O

AutoCAD SHX Text
F

AutoCAD SHX Text
N

AutoCAD SHX Text
E

AutoCAD SHX Text
W

AutoCAD SHX Text
Y

AutoCAD SHX Text
O

AutoCAD SHX Text
R

AutoCAD SHX Text
K

AutoCAD SHX Text
K

AutoCAD SHX Text
U

AutoCAD SHX Text
T

AutoCAD SHX Text
R

AutoCAD SHX Text
S

AutoCAD SHX Text
C

AutoCAD SHX Text
L.

AutoCAD SHX Text
H

AutoCAD SHX Text
M

AutoCAD SHX Text
I

AutoCAD SHX Text
T

AutoCAD SHX Text
Z

AutoCAD SHX Text
0

AutoCAD SHX Text
3

AutoCAD SHX Text
8

AutoCAD SHX Text
9

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
E

AutoCAD SHX Text
X

AutoCAD SHX Text
C

AutoCAD SHX Text
E

AutoCAD SHX Text
L

AutoCAD SHX Text
S

AutoCAD SHX Text
I

AutoCAD SHX Text
O

AutoCAD SHX Text
R


